):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6300205-00001XX
Diff0l1 for No.8765

kx-3 <4 2 . -
No()I:[f(x):{ Y o D ,No()Z:(f(x):Px thoyox< 2D
2x°=3 ; x>=4 kx+24 ; x>=-2

3% +ax-3 ;o x<=-3 ax+11 x<-3
No03=|f(x)= X co3<x<2|) ,NoO4=|f(x)=| bx+a ; -3<=x<=2
3x+b ; x>=2 dx+b x>2

No05 =[f(x)=x+5]

fx)=8x"+5
a=4 a=4 a=2 a=3
No06 = b:;l.f , ,N007=[b:5} aNOOS:[b:J’ ’N008:[b:8}
Cc=4.
d=4.01
45+ /
JI//
40| /
/
/
35- //
30- /
25- /
20-
y
15 //
/!
//
10
//
-—//
5_*,__.__-
y 1* 5 3 p 5 : 7 :
-5
-10-
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6300205-00002XX
Diff0l1 for No.8767

NoOI:[f(x):{3x2+k ; x<2D, ’N002:[f(x):{4x2+k ; x<:_3D

8x—-11 ; x>=2 kx+60 ; x>-3
ax’+5 N x <-4 bx+13 x<=-3
No03 =| f(x)= 2x+b ;A4 <=x<2]| ,NoO4=|f(x)=| ax+b ; -3<x<=2
¥ —4x+69 ; x>=2 6x+a x>2

No05 =[f(x)=(x-2) +4]

fx)=8x"+7
a=2

a==6 a==6 a="17

No06 = b=22 | ,N007—[b:8}> ’NOOS_[IJ:J’ ’N008_[b:2}
c=2.1
d=2.01

457

401 /J
351 /

30- /-

25 /
204 /

15 A

10 /

-104
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6300205-00003XX
Diff0l1 for No.8768

NoO]:[f(x):{2x2+k ; x<=2D, ,NoOZ:(f(x):{kxz_'?ﬂ ; x<-3D

8x-1 , x>2 Tx+k ; x>=-3
X +a ;o ox<=-3 ax+10 ; x<=-3
NoO3=|f(x)=| 20+2x ; 3<x<4]|, ,NoO4=|f(x)=| bx+a ; -3<x<2
2x +bx+8 ; x>=4 3x+b x>=2

No05 =[f(x)=(x-1+7]

fx)=5x"+6
a=3 a=4 a=17 a=>5
No06=| =32 | ’N007:[b:8}’ 7N008:[b:6}’ ’N008:[b:7}
c=3.1
d=3.01
45+ /
40+ /
/
/
35 //
/
/
304 //
/
25-
/
//
20- //
15 /
4
10 /
5_
y : > 3 ] 5 : 7 :
5
=10
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXKXKXXXKXXXXKXX KX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6300205-00004XX
Diff0l1 for No.8779

No()]:(f(x):|:6x+10 ; x<2:|j’ ,No()Z:(f(x):{kxz_:B . x<—3:|j

kx> +6 ;ox>=2 3x+k ; x>=-3
ax’+2 N x <-4 bx+12 ; x<=-2
NoO3=|f(x)=|3x*-3x-26 ; -4d<=x<3|} ,NoO4=|f(x)=| ax+b ; -2<x<3
2x+b K x>=3 4x+a ; x>=3

No05 =[f(x)=(x-2)+2]

fx)=7x"-3
a=2

a=17 a=2 a=2

No06 = b=22 | ,N007—[b:2}’ ’Noog_[sz’ ’N008_[b:7}
c=2.1
d=2.01

45+
401 /-

351 /
/
301 -

25 /

] /
20 y.

%

10+

-104
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXXKX XXX KX XXX XXX KX KKK KXXKXKKKXM6/1-6300205-00005%XX
Diff0l1 for No.9404

No()]:[f(x):{kxz_6 ’ X<2D, ,NoOZ:(f(x):{kxz_“”l ; x<=_3D

2x+6 [, x>=2 Sx+k ; x>-3
ax’—6x+1 N x <-4 ax+19 x <=-4
NoO3=|f(x)=| 3x*+9 cod<=x<2]) ,NoO4=|f(x)=| bx+a ; -4<x<=3
2x+b R x>=2 Sx+b x>3

No05 =[f(x)=x*+7]

fx)=4x"-7
a=3 a=7 a=73 a=38
NoO6=| bh=32 | ’N007:[b:8}’ 7N008:[b:g}’ ’N008:[b:6}
c=3.1
d=3.01
451 /
/
/
/
401 /
/
354 //
304 /
/
/
/
251 //
201 7
e /
154 e
4
e
10 //
5_
y : > 3 ] 5 : 7 :
54
=104
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKXKXKXKKKM6/1-6300205-00006XX
Diff0l1 for No.9440

No()l:[f(x):sz_“ ; x<3D’ ,N002:(f(x):{kx+74 ; x<:-4D

Tx+k ; x>=3 4x*+k sox>-4
3% +ax—1 R x <-4 bx+9 ; x<=-2
NoO3=|f(x)=| 43+5x ;, A<=x<=3|| ,NoO4=|f(x)=|ax+b ; -2<x<2
bx*+49 x>3 dx+a ; x>=2

No05 =[f(x)=x+1]

flx)=3x"+2
a=4 a=4 a=238 a=17
NoO6=| bh=42 | ,N007=[b:6} 7N008:[b:3}’ ’N008:[b:8}
c=4.1
d=401
45+ /
/
40+ JI//
| /
35 /
//
| /
30 /
/
/
/
251 /
| /
20 /
154
)4
/S
//
104 v
yd
Ve
e
5_ //‘/’
/.///
- Tz 3 4 5 & 1 @
54
=101
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6300205-00007XX
Diff0l1 for No.9474

No()]:(f(x):{kx-'_g ’ x<:2D, ,No()Z:(f(x):{kxz_gz ; x<=_4D

4xX°+7 ; x>2 8x+k ; x>-4
ax’—x-3 s ox<=-2 bx+12 x <=-4
NoO3=|f(x)=| x*+3 so2<x<4|) ,NoO4d=|f(x)=| ax+b ; -4<x<=2
15+bx , x>=4 3x+a x>2

No05 =[f(x)=(x-3)+2]

fx)=5x"~7
a=2 a=5 a=73 a=28
No06=| b=22 | ’N007:[b:8}’ 7N008:[b:5}’ ’N008:[b:7}
c=2.1
d=2.01
454
40+
354
304
/
251 /
//
//
201 //
//
15+ /
/
/
/S
104
™
5+ prd
\“\_h_ﬁﬁ*_-f”’°///
7 T S S S S S
54
=101
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXKXXXX KX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6300205-00008XX
Diff0l1 for No.9607

[ [kx-&-SO ; x<:4D [ {kx+26 ; x<=-2D
No0OI =| f(x) = , > No02=|f(x)=

452 -2 : x>4 2% +k ; x>-2
2x°+1 s o x<=-4 ax+17 x<-3
No03 =| f(x)= 41 +ax ;o 4<x<2]| ,NoO4=|f(x)=| bx+a ; -3<=x<=3
bx*—T7x+55 ; x>=2 6x+b ; x>3
No05 =[f(x)=(x-2)+3]
f(x)=8x"+5
a=4 a=4 a=6 a=5
NoO6=| b=42 | ,No()7:[b:6}, ,NoOS:[b:J, ,No()8:[b:8}
c=4.1
d=4.01
457
404 //
/
35 /-
/
/
//
301 /
/
254 /
/
/
204
'
154 /
101 /
//
™.
! 1 2 3 4 5 6 7 8
5
=10+
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXKXXXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6300205-00009XX
Diff0l1 for No.9965

( {Sxﬁ-k N x<4D ( {6x+k ; x<—4D
NoOI =| f(x)= R , No02 =| f(x) =

3x%+1 ; x>=4 kxX*—69 ; x>=-4
2x°-2x+3 N x<-4 ax+24 ; x<=-4
NoO3=|f(x)=| bx>+27 cod<=x<=2]} ,NoO4=|f(x)=| bx+a ; -4<x<4
dx+a K x>2 Sx+b ; x>=4

No05 =[f(x)=(x-1)+5]

fx)=3x"~7
a=2 a=4 a=2 a=6
No06=| b=22 | ,N007=[b:5} 7N008:[b:4}’ ’N008:[b:5}
c=2.1
d=2.01
45 /
40 /
35- //
30 /
/
254 //
| /
20 /s
/7
)4
15+ /,//
yd
)
10 //
/
5_\"—'—__._,._._..——'——"/
- T T
54
=101
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6300205-00010XX
Diff0l1 for No.10186

Nom:[f(x):F)‘Z‘5 ; x<3D, ,No()2:(f(x):{2x2+k ; x<_3D

Tx+k ; x>=3 kx+26 ; x>=-3
Y +bx+4 R x <-4 ax+8 x<-2
NoO3=|f(x)=| 60+5x ,; -4<=x<=3|]| ,NoO4=|f(x)=|bx+a ,; -2<=x<2
2% +a ; x>3 3x+b x>=2

No05 =[f(x)=(x-2)+1]

fx)=8x"+5
a=2 a=6 a=73 a=>5
No06=| b=22 | ,N007=[b:5} 7N008:[b:g}’ ’N008:[b:3}
c=2.1
d=2.01
45+
401 £
//
351 /
/
/
30- //
/
25- /
//
- /}
20 /
/
15
/
101 /
yd
5-\ /
~ .
\\\‘\\H‘___h-——~__~_,;”////
. T
5
=101
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXKXKXKKKXM6/1-6300205-00011XX
Diff0l1 for No.10203

No()l:[f(x):{zx2+5 ; x<=4D, ,N002:(f(x):{3x2+k ; x<_2D

Sx+k ; x>4 kx+21 ; x>=-2
X+ 4 ;o x<=-3 ax+11 x<-2
No03=|f(x)=| 3l+bx s -3<x<A4|]| ,NoO4=|f(x)=| bx+a ; -2<=x<2
ax’ +4x+17 ; x>=4 6x+b x>=2

No05 =[f(x)=(x-2)+2]

f(x)=6x"+5
a=3

a=17 a=5 a="17

No06 = b=32 | ,N007—[b:3}> ,N008—[b:2}, ’N008_[b:2}
c=3.1
d=3.01

45+
40 /-
/
351 /
] /
30 /
254 /
] /
20 P

%

10+

-104
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXKXKXKKKXM6/1-6300205-00012XX
Diff0l1 for No.10215

No()l:[f(x):{kx2+3 ; x<=3D, ,No()Z:[f(x):{kx-‘_“z ; x<-3D

3x+30 ; x>3 2% +k ; x>=-3
x-3 : x <-4 bx+10 ; x<=-3
No03 =| f(x)= bhx*—23 ; 4<=x<3|]| ,NoO4=|f(x)=| ax+b ; -3<x<2
2¥-5x+a ; x>=3 3x+a x>=2
No05 =[f(x)=(x-1)+3]
flx)=7x"+4
a=2
a=2 a=2 a=238
No06 = b=22 , ,N007—[b:4}, ,N008—[b:4}, ,No()8—[b:3}
c=2.1
d=2.01
457 /
/
/

401 /
351 /-

30- £

25- -

204

15 /
/

10+ e

-104
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6300205-00013XX
Diff0l1 for No.10889

NoOI:[f(x):{2x2_4 ; x<4:|j, ,N002:(f(x):{kx+89 ; x<:-4D

3x+k ; x>=4 ax’+k o x>-4
2x+a s ox<=-4 bx+18 x<-3
NoO3=|f(x)=|2x"~4x-60 ; -4<x<2||, ,No04=|f(x)=| ax+b ; -3<=x<4
bx*-72  ; x>=2 3xta ;. x>=4
No05 = [f(x)=x"+5]
fx)=3x"-5
a=4 a=7 a=2 a="17
NoO6=| b=42 |, ,N007=[b:4} 7N008:[b:3}’ ’N008:[b:8}
c=4.1
d=401
45- /
//
40 //
/
//
354 /
30+ /
25- /’/
204
.
154 //
v
A
//
104
//
5_#/0/
y : > 3 ] 5 : 7 :
-5
=104
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKKXKXKXKKKM6/1-6300205-00014XX
Diff0l1 for No.10981

Nom:[f(x):r“k g x<:2D, ,No()2:(f(x):{2x2+k ; x<_3D

42 ; x>2 kx+30 ; x>=-3
-2x-1 N x<-4 bx+22 x<-4
No03=|f(x)=| bx*-25 ; -4<=x<=3|}, ,NoO4=|f(x)=| ax+b ;| -4<=x<4
6x+a ; x> 3 3x+a x>=4

No05 =[f(x)=(x-3)+6]

fx)=7x"+2
a=3 a=6 a=73 a=238
No06=| =32 | ’N007:[b:8}’ 7N008:[b:4}’ ’N008:[b:6}
c=3.1
d=3.01
454
40
354
/
/
30- //
//
/
251 /
/
/
//
201 /7
//
154 //
< /
™~
10- S
\ e
\—h'\—-_‘__'_-—!'/
5_
. T
54
=101
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKM6/1-6300205-00015XX
Diff0l1 for No.10996

No()]:[f(x):{];);z_—7 ; x<2:|j’ ,No()Z:(f(x):{7x+k . x<-4D

3, x>=2 kx> —58 ; x>=-4
ax’+4x—4 : x<=-4 ax+20 ; x<=-2
NoO3=|f(x)=| 3x*-52 cod<x<2|) ,NoO4=|f(x)=| bx+a ; -2<x<6
46+ b x ; x>=2 3x+b x>=6
No05 =[f(x)=(x-1)+1]
f(x)=7x"-4
a=2 a=4 a=17 a=6
No06=| b=22 | ,N007=[b:5} 7N008:[b:2}’ ’N008:[b:2}
c=2.1
d=2.01
45+ /
//
40+ //
/
/
/
35 /-
/
304 /
/
251 //
J//
201
154 //
//
10 A
pd
s
5 /
\______/0/
4 1 2 3 4 5 6 7 8
54
=101
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXKXXKXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKM6/1-6300205-00016XX
Diff0l1 for No.11386

No()]:(f(x):{k“4 : x<3D, ,NoOZ:(f(x):{kxz_Ss ; x<-3D

3x°-2 ; x>=3 Sx+k ; x>=-3
3+3x - x<-2 15+bx x<-4
No03=|f(x)=| 3x+a ; -2<=x<3||, ,NoO4d=|f(x)=|ax+b ; -4<=x<2
bx*+x-6 x>=3 6x+a x>=2
No0S = [f(x)=x>+3]
fx)=7x"+5
a=2 a=17 a=17 a:8
No06=| b=22 | ,N007=[b:2} 7N008:[b:g}’ ’N008:[b:4}

c=2.1

d=2.01
45+ /

//
40+ /
35 //
304 //
251 /
/
/
201 /
154 //
104 //
//

-

5 p
7 S e

54
=10
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKM6/1-6300205-00017XX
Diff0l1 for No.11394

[ {8x—12 ; x<3D [ {k“zs ; x<—2D
NoOIl =| f(x)= , ,No02 =| f(x)=

kx> -6 ;o x>=3 4x’ +k ;ox>=-2
—44+2x ; x<-2 ax+22 ; x<-3
No03 = ﬂx%:3x2+bx—28 ; 2<=x<=3||, ,NoO4=|f(x)=| bx+a ,; -3<=x<3J
L ax’-22 : x>3 3x+b x>=35
No05 =[f(x)=(x—1)*+4]
[f(x)=4x-7
a=2 a=3 a=06 a=>5
NoO6=| b=22 | ,No()7:[b:5}, ,NoOS:[b:J, ,No()8:[b:4}
c=2.1
d=2.01
457 /
/
404 //
/
35 -
/
/
301 //
/
/
254 //
/
204
s/
7
)4
15 A
//
101 /
- /
! 1 2 3 4 5 6 7 8
54
=10+
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX KKK KKXKXKXKKKXM6/1-6300205-00018XX
Diff0l1 for No.11397

Tx-7 ,; x<=3 Tx+k ;o x<-4
No0l = (f(x) ={ D, , No02 = [f(x) = {k D

2x%+k ; x>3 X118 ; x>=-4
L+bx ; x<-2 bx+14 ; x<=-4
No03 =|f(x)= 3x4-17  ; -2<=x<4||, ,NoO4=|f(x)=| ax+b ,; -4<x<=2
Y +S5x+a ; x>=4 Sx+a x>2
No05 =[f(x)=(x-1)+5]
flx)=4x"-5
a=3 a=38 a=28 a=5
No06=| b=32 | ,No()7:[b:2}, ,NoOS:[b:J, ,No()8:[b:3}

c=3.1

d=3.01
454 /
40 /
354 //

/
304 /
25 -
4 /
20 7
/
//
15 .
pd
yd
e
101 /
5_\___&___ﬁm__;/o/
4 1 2 3 4 5 6 7 8

54
=101
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKKXKXKXKKKXM6/1-6300205-00019XX
Diff0l1 for No.11456

NoOI:[f(x):[2x2+1 g x<=2D, ,N()OZ:(f(x):[kas ; x<-3D

kx-3 ; x>2 3%+ k ;ox>=-3
+5 ;o ox<=-2 ax+14 ; x<=-3
NoO3=|f(x)=|3x*+ax—1 ; -2<x<4|} ,NoO4=|f(x)=| bx+a ; -3<x<3
T7x+b ; x>=4 3x+b x>=3

No05 =[f(x)=(x-2)+2]

fx)=7x"+5
a=3

a=6 a=17 a=3

NoO6=| b=32 | ,N007—[b:4}, ,NoOS_[bZS}, ’Noog_[b:S}
c=3.1
d=3.01

45+
401 /-

35 /
/
30 -

25 /

| /
20 y

15+ /
/

=104
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6300205-00020XX
Diff0l1 for No.11496

NoO]:(f(x):[kx+4 g x<2D’ ’Noozz[f(x):[kxz—lm ; x<=_4D

4x*+4 ; x>=2 6x+k ; x>-4
3 +ax—2 ;o x<=-4 ax+14 x<-4
No03=|f(x)=| 62+2x ; 4<x<3|]| ,NoO4=|1f(x)=| bx+a ; -4<=x<2
¥ +b s x>=3 Sx+b x>=2

No05 =[f(x)=x"+6]

flx)=5x"-2
a=3 a=5 a=238 a=38
No06 = b=32 , ,No()7:[b _ 2}, , No08 :[b _ 2}, ,No()8:[b :4}
c=3.1
d=3.01

45+ //
40 //

| /
35 //

/

30+ /

1 /
25 //
201 /

)4
/s
s
15 /‘/
pd
e
//
104
///,///
ﬁ_——'—‘"/
5_
. R e

54
=10+
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6300205-00021XX
Diff0l1 for No.11509

No()l:[f(x):|:8x+l3 ; x<3:|], ,NoOZ:[f(x):|:3x2+k . x<=—4:|)

kxt+1 ;o x>=3 kx+68 ; x>-4
3% —x+1 N x <=-4 ax+18 x<=-2
NoO3=|f(x)=| ax*+21 ; -4<x<=3|} ,NoO4=|f(x)=| bx+a ; -2<x<=35
Tx+b R x>3 4x+b x>35

No05 =[f(x)=(x-2)"+5]

flx)=7x"+2
a=3 a=6 a=6 a=3
No06 = b=32 , ,No()7:[b _ 7}, , No08 :[b _ 8}’ ,No()8:[b :4}
c=3.1
d=3.01
45+ /
/
/
401 /
351 /
/
%] b
//
25+ /
/
204
7
V4
151 /
104
™ /
~. p
5 \ —/
y : ) 3 ] 5 6 7 :

54
=10
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKXKXKXKKKXM6/1-6300205-00022XX
Diff0l1 for No.11539

NOO]:[f(x):|:3x2+k N X<:2:|j’ ,NO()Z:(f(x):[4x+k N x<_2:|j

8x-2 : x>2 kx*—14 ; x>=-2
1+2x ; x <-4 bx+28 ; x<=-4
NoO3=|f(x)=| bx*=39 ; -4<=x<2|| ,NoO4=|f(x)=|ax+b ; -4<x<5
Lt4x+a x>=2 dxta ;  x>=3
No05 = [f(x)=(x=3)*+1]
fx)=7x"+6
a=4
a=3 a=28 a=5
No06=| b=42 | ,N007—[b:5}, ,NoOS—[b:Ja sNOO‘?—[b:J
c=4.1
d=4.01
45+
40+
351
304

25 //

20 /

15+ -

10- /

=104
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6300205-00023XX
Diff0l1 for No.11585

( {4“37 ; x<4D ( [8x+k ; x<—2D
NoOl =| f(x) = , , No02 =| f(x) =

kxX*+5 ; x>=4 kx*—-28 ; x>=-2
3:55-5 ;o o x<=-3 ax+11 x<=-2
No03 =| f(x)= 2x+b ; 3<x<4]|, ,NoO4=|f(x)=| bx+a ,; -2<x<=2
2x +ax+32 ; x>=4 6x+b x>2

No05 =[f(x)=x*+7]

fx)=2x"+5
a=4 a=7 a=238 a=>5
No06 = b=4.2 , ,No()7:[b _ 8}’ , No08 :[b _ 2}, ,No()8:[b _ J
c=4.1
d=4.01
45+ /
/
40 /
//
351 /
/
301 //
/
/
//
251 /
20+ //
//
i e
15 e
)4
e
10- //
5_
y : ) 3 ] 5 6 7 :

-5
=10+
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXXKXXKX XXX KX XXX KX XXX XXX KX XXX KXXKXKKKXM6/1-6300205-00024XX
Diff0l1 for No.11593

No()l:[f(x):{kx2+3 ; x<3D, ,N002:(f(x):{2x2+k ; x<_3D

8x+6 , x>=3 kx+42 ; x>=-3
3+ 7x+4 ;ox<=-2 ax+15 x<=-3
No0O3=|f(x)=| bx+12 ;o -2<x<3|]| ,NoO4=|f(x)=| bx+a ; -3<x<=3
ax’+18 ; x>=3 dx+b x> 3

No05 =[f(x)=x+5]

fx)=5x"+8
a=2 a=28 a=17 a=17
No06 = bz;f , ,No()7:[b:2}, ,No()8=[b:4}, ,No()8:[b:8}
CcC=_L.
d=2.01
45- /
//
| /
40 /
/
/
35 //
30 /
25 /
20
//
15+ /
S/
/
//
10
//
5—#/./
y : ) 3 ] 5 6 7 :
54
-10
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):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6300205-00025%XX
Diff0l1 for No.11633

2 : 3x+k ; x<-2
NoO]:(f(x):[4x tho;ox<3 D ,NoOZ:(f(x):[ N o D
2x+33 ; x>=3 kx" =24 ; x>=-2

3% -6x—4 N x<-3 ax+27 ; x<=-4
No03=|f(x)=| 62+bx ; 3<=x<4]|, ,NoO4=|f(x)=| bx+a ; -4<x<=35
X +a R x>=4 3x+b x>5

No05 =[f(x)=x+5]

fx)=7x"-5
a=2 a=6 a=>5 a=3
No06 = bz;f , ’NOW:[b:J’ ,No()8=[b:4}, ,No()8:[b:2}
CcC=_L.
d=2.01
45- /
//
| /
40 /
/
/
35- //
301 /
25 /
20+
y
15 //
/
//
10
//
-//
N
y : ) 3 ] 5 6 7 :
54
-10-
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X Math@MUT XXXXXXXXXXXXXXKXXKXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXKXKXKKKXM6/1-6300205-00026XX
Diff0l1 for No.11636

Nom:(f(x){4x2+k ; x<3:|j’ ,No()Z:(f(x):[4x+k : x<=-2D

3x+33 ; x>=3 kx*-23 ; x>-2
2x*-3 ; x<=-2 ax+14 x<-3
No03 =| f(x)= 4x+a ; 2<x<=3]]| ,NoO4=|1f(x)=| bx+a ; -3<=x<=3
lbx*—6x+16 ;  x>3 3x+b x>3

No05 =[f(x)=(x-2)+5]

[f(x)=5x+3
a=2 a=28 a=73 a=3
No06 = b=22 , ,No()7:[b:5}, ,N008=[b:4}, ,No()8:[b:5}
c=2.1
L d=201
45+ /
/
/
40- /
351 /
/
%] b
//
25- /
/
204
7
/
151 /
104
™ /
~ §
5 \ —/
y : ) 3 ] 5 6 7 :

54
=10
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6300205-00027XX
Diff0l1 for No.11650

No()I:[f(x):{k)g*'z ; x<=3D, ,N002=[f(x):{kx+56 ; x<:-3D

5x+23 ; x>3 4 +k ; x>-3
¥ +a N x<-4 ax+18 x<-4
NoO3=|f(x)=|2x*~5x-31 ; -d<=x<2/|}, ,NoO4=|f(x)=| bx+a ; -4<=x<=3
L -39+bx : x>=2 4x+b x> 3
No05 =[f(x)=(x-3)+7]
[f(x)=8x-7
a=4 a==6 a=17 a=3
NoO6=| b=42 | ,No()7:[b:8}, ,No()8:[b:5}, ,No()8:[b:5}
c=4.1
d=4.01
451
40+
354
/
/
/
30 -
//
251 A
//
20+ /
S
//
154
\\ /
101 . //
‘\\\‘H\‘\hﬁ_ﬁﬁvﬁ_ddzﬁz).(//
5_
1 1 2 3 4 5 6 7 8
54
=10+
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX KKK KXXKXKKKXM6/1-6300205-00028XX
Diff0l1 for No.12273

( {7“14 ; x<3D ( [8x+k ; x<—3D
NoOl =| f(x) = , , No02 =| f(x) =

kx*=1 ; x>=3 kx*=56 ; x>=-3

Tx+a : x <=-4 ax+15 x<-2
No03 =| f(x)= 2% +bx—56 ; -4<x<=3|| ,NoO4=|1f(x)=| bx+a ; -2<=x<=4

3x°—59 : x> 3 4x+b x>4

No05 =[f(x)=(x-1+7]
[f(x)=5x+6
a=4 a=3 a=8 a=4
NoO6=| b=42 | ,No()7:[b:6}, ,NoOS:[b:J, ,No()8:[b:6}
c=4.1
L d=4.01
454 /
/
40 //
/
//
354 /
/
//
304 /
/
254
/
20 LA
154 //
e
ol //
\‘—*—-—.___,_,,__,_,__.——'//
5_
1 1 2 3 4 5 6 7 8

54
=101
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6300205-00029XX
Diff0l1 for No.12356

[ {4):—1 ; x<=3D ( |:kx+25 : x<-zD
No0l =| f(x) = , ,No02 =| f(x)=

2% +k x> 3 ax’ +k ;ox>=-2
2x°+a N x<-3 ax+11 x<-2
NoO3=|f(x)=[3x>—5x-22 : -3<=x<=4|} ,NoO4=|f(x)=| bx+a ; -2<=x<=2
2+bx ; x>4 6x+b x> 2

No05 =[f(x)=(x-3)+2]

f(x)=8x"+3
a=2 a=5 a=6 a=38
No06 = b=22 , ,No()7:[b :4}, , No08 :[b _ 8}’ ,No()8:[b _ 6}
c=2.1
d=2.01
45
40
35
30
/
251 /
//
//
201 //
//
15 /
/
7
10
~
5 //
— _/
y : 5 3 p 5 6 7 :
54
-10-
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KKK KKXXKXKKKXM6/1-6300205-00030XX
Diff0l1 for No.12585

[ {7x+8 : x<:3D ( [7x+k N x<—3D
NoOl =| f(x)= R , No02 =| f(x) =

3%+ k s x>3 kx> — 69 cox>=-3
-1+bx ; x<-3 bx+14 x<-3
No03 =|f(x)= P +a ; 3<=x<=2]|, ,NoO4=|f(x)=| ax+b ; -3<=x<=2
2 —6x-20 ; x>2 Tx+a | x>2
No05 =[f(x)=(x-1)+5]
f(x)=7x"-3
a=4
a=6 a=4 a=8
No06 = b=42 , ,N007—[b:8}, ,No()8—[b:5}, ,No()8—[b:4}
c=4.1
d=4.01
454 /

/
/

30 /
/
251 /

| /
20 Y

15+ ///

=104
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6300205-00031XX
Diff0l1 for No.12667

NoO]:[f(x):[];)f_’/ ; X<2D, ,Noozz(f(x):[kxz—% ; x<-4D

-5 ; x>=2 2x+k ; x>=-4
Prax—1 ;o x<=-3 bx+16 x<-2
NoO3=|f(x)=| 23+7x , -3<x<2|| ,NoO4=|f(x)=| ax+b ; -2<=x<=4
3%+ b ; x>=2 Sx+a x> 4

No05 =[f(x)=(x-3)+3]

fx)=3x"~7
a=2 a=7 a=73 a=38
No06 = b=22 , ,No()7:[b :4}, , No08 :[b _ 5}, ,No()8:[b _ 6}
c=2.1
d=2.01

454

40

354

304 /

/
//
254 //
/
201 //
/
//
154 /s
/s
d
/
10+ \\
51 \\ -
\\\5‘“_—__£—__F’,/"r//’
) e

54
=101
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Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKX XXX XXX KX XXX KKK KX KX KKK XXX KKXKXKXKKKXM6/1-6300205-00032XX
Diff0l1 for No.12678

No()l:[f(x):{4x2+2 ’ x<=4D, ,N002:(f(x):{3x2+k ; x<_2D

8x+k ; x>4 kx+21 ; x>=-2
ax’+1 ; x<=-3 bx+12 ; x<=-2
NoO3=|f(x)=|x*-3x+1 ; -3<x<2|} ,NoO4=|f(x)=| ax+b ; -2<x<2
-13+bx x>=2 Tx+a ; x>=2

No05 = [f(x)=x"+4]

X

fx)=3x"+4
a=2 a=28 a=73 a=2
No06 = b=22 , ,No()7:[b:2}, ,N008=[b:8}, ,No()8:[b:6}

c=2.1

d=2.01
45+ /

/
/
401 /'/
/
351 /
/
301 //
251 /
/
/
201 //
/
15 //
/
/
//

10+ /

pred

5—_/
3 1* 3 3 4 5 6 7 8

54
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6300205-00033XX
Diff0l1 for No.12690

NoOI:[f(x):{3x2+k ; x<4D, ’N002:[f(x):{4x2+k ; x<:_gD

4x+25 ; x>=4 kx+25 ; x>-2
ax’+1 ;o ox<=-2 ax+17 x<-2
NoO3=|f(x)=|3x*-7x-17 ; -2<x<4||, ,NoO4=|f(x)=|bx+a ; -2<=x<35
—-13+bx K x>=4 3x+b x>=5
No05 =[f(x)=(x-3)+3]
f(x)=8x+7
a=2 a=7 a=6 a=5
NoO6=| b=22 | ,No()7:[b:8}, ,NoOS:[b:J, ,No()8:[b:7}
c=2.1
d=2.01
454
40
354
304 //
/
/
254 //
//
204 /
/
4
15+ e
/s
d
/
104 \\
5- o <
\\\_________/
1 1 2 3 4 5 6 7 8
54
=101
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXKXXXKXXKXXXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6300205-00034XX
Diff0l1 for No.12696

NOO]:[f(x):|:];);2_7 N x<2:|j’ ,No()z:(f(x):[zx-ﬁ-k N x<:_2:|j

-5 ; x>=2 kx*—16 ; x>-2
bx*+3 x<-3 bx+11 ; x<=-3
NoO3=|f(x)=|x*+ax+15 ; -3<=x<=2|, ,NoO4=|f(x)=|ax+b ; -3<x<2
3+6x K x>2 dx+a ; x>=2

No05 = [f(x)=x"+3]

fx)=5x"+7
a=3 a=4 a=>5 a=4
No06 = b=32 , ,No()7:[b: 5}, ,N008=[b: 6}’ ,No()8:[b: 5}
c=3.1
d=3.01
451 //
/
40+ ).’/
354 //
30 //
//
251 /
/
/
20 /
15+ //
v
10 //
//
51 /’/
g : 2 3 ; 5 6 7 5
-5
-10

X [Page = 0034] XXXXXXXXXXXXXXXXXXXXXXKXKXXXXXXXKXXXXXKXXXXXXXKXXKXKXXXXKXKXKXKXXKXKXKXKXKXKXKKKXKXKXKKXKXK



):9:9:9:9:9:9.:9.9:9.:0.9.9:9.:0:9.9:9.:9:9.9.:9.0:9.9.:0.9:0.0:0.9.0.9.:9.9.9.0:0.9.9.9:0.9.9.9:0.9.9.9.0.9.9.9.0:9.0.:0.9:9.0:0.9.9.0:0.9.0.0:0.9.0.0.0.9.9.0:0.9.0.0:0.9.9:0.:0.9.9.0.0.9.9.0.0.0.04
X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX XXX KKXXKXKKKXM6/1-6300205-00035%XX
Diff0l1 for No.12777

8x+k ; x<2 2ok ]
No()I:[f(x):{ ° * D ,NoOZ:(f(x):{zx thoyox< 2D
4x -2 ; x>=2 kx+26 ; x>=-2

2¥ —x+b s ox<=-4 bx+22 x<-4
NoO3=|f(x)=| 59+7x , -4<x<3|| ,NoO4=|f(x)=| ax+b ; -4<=x<=4
ax’+71 ; x>=3 3x4+a x> 4

No05 =[f(x)=x*+5]

fx)=5x"-8
a=4 a=4 a=2 a=4
No06 = b:j? , ’NOW:[b:J’ ,No()8=[b:6}, ,No()8:[b:8}
Cc=4.
d=4.01
45- /
//
| /
40 /
/
/
35- //
301 /
25 /
20+
y
15 //
/
//
10
//
-//
N
y : ) 3 ] 5 6 7 :
54
-10-
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXXKXXKX XXX KX XXX XXX KX KXKXKXXKXKKKXM6/1-6300205-00036XX
Diff0l1 for No.12785

Nom:[f(x):[“xz*k g x<=2D, ,No()Z:(f(x):[kxz_zz ; x<=_gD

6x-2 ; x>2 8x+k ; x>-2
P rax+2 N x<-2 bx+27 ; x<=-4
NoO3=|f(x)=| 3x*+b : -2<=x<=4|} ,NoO4=|f(x)=|ax+b ; -4<x<35
20+2x x>4 3x+a ; x>=35

No05 =[f(x)=x+1]

fx)=6x" -5
a=2 a=3 a=73 a=4
NoO6=| b=22 | ,N007=[b:8} 7N008=[b:6}’ °N"08:[b:6}
c=2.1
d=2.01
451 /
/
40- JI//
| /
35 /
//
| /
30 /
/
/
/
251 /
| /
20 /
15
)4
7/
/
10 /‘/
/
yd
e
5_ ,/.//
,/
y : ) 3 ] 5 6 7 :
54
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X Math@MUT XXXXXXXXXXXXXXKXXXXXXXKXXXXXXXKXXXXXXXKX XXX KX XXX XXX KX KXKXKKXXKXKKKXM6/1-6300205-00037XX
Diff0l1 for No.13085

(o-[3225 D)) e (mo= [ S
NoOI =| f(x)= R ,No02=| f(x)=

2343, x>2 ax’+k ; x>-2
bx*+4  ; x<=-22 bx+20 ; x<-4
NoO3=|f(x)=| ax+14 ;o -2<x<A4|| ,NoO4=|f(x)=| ax+b ; -4<=x<3
3%—6x+2 ; x>=4 6x+a x>=3

No05 =[f(x)=(x-2)+5]

fx)=6x" -5
a=3 a=4 a=17 a=4
No06 = b=32 , ,No()7:[b _ 2}, , No08 :[b _ 3}, ,No()8:[b _ 7}
c=3.1
d=3.01
45- #
/
/
40 /
351 /
/
30| /
//
25 /
/
201
Ve
/
154 v
104 /
™ /
~. p
5 \ —/
3 1* 3 3 4 5 6 7 8
54
=10+
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